S02 Statics of Particles

1 F,=439N F,=311N

2 F=275N 0=29.1

3 Fe=29.4kN F,.=152kN F,, =215kN
4 T=143kN 6=36.3°

S03 Equivalent Systems of Forces

1 M, =38.18kN-mT{

2 Not Applicable

3 F,=542N 6=10.6° \\ d =827 mm(fromA)
4 F,=125kN x=8.00m/fromA)

S04 Equilibrium of Rigid Bodies

1 0=26.4

2 A =208kN—> A =87.7kNT T =4+34.62kN

3 A =360kN—> A =180kNJ Ny=509kN" N
4 C,=266kN<« C, =656kN{ F,, =+0.864kN

S05 Analysis of Structures

Foo =—1.34kN Fo. =+1.2kN F. =0kN

! Fe=-134kN F;=-127kN F, =+2.1kN
) Fop =-192kN Fy =+153kN

Fep =Fee =0
3 Fo=-180kN F,=-75kN F, =+150kN
. B,=220N« B =220NT

A =300N« A =804NT
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S06 Centroids and Centers of Gravity

1 A:Eah nga Vzih
3 4 10
4(r’—r’
2 | Asgpr(-n) izsn((rf fz)) -
3 A=(l+§}az X=0 y=-0.262a

S07 Moments of Inertia

1 l,=0533m* | =267m"
|, =0.2051m* 1, =0.2857 m*
’ lo =0.491m*
3 |, =798(10°) mm* I, =10.3(10°) mm"*
4 l, =3.12m’
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